
Chapter: - Trigonometric functions

Q1.The angle of a triangle are in A.P. such that the greater is 5 times the least. Find the angle in radian.

Ans.
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3
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9


.

Q2.Find the magnitude in radian and degree of the interior of a regular pentagon. Ans. 0
108,

5

3
.

Q3.If cosx =
5

3
and π<x<

2

3
, find the value of other five trigonometric functions and hence evaluate
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5
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5
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3
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4
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4
sin
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Q4.Find the value of (i) cot15
0
(ii) cot105

0
(iii) tan7

0

2

1
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0

2

1
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0
(vi)cos36

0
(vii)sin54

0
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Q5.If cosx=
3

1
where x lies in IIIrd quadrant then find the value of

2
tan,

2
cos,

2
sin

xxx
Ans. 2,

3

1
,

3

2 
Q6. If tanx +sinx=m, tanx –sinx =n, to show that:- mnnm 4

22 
Q7. If A, B, C and D are the angle of a cyclic quadrilateral then prove that cosA + cosB + cosC + cosD = 0.

Q8.Find the maximum and minimum value of sinx+cosx . Ans. 2,2 
Q9.If three angles of A, B and C are in A.P. then prove that: - cotB=

AC
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coscos

sinsin




Q10.To prove that the following identities:-

(i) 1

)cot(cos)
2
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
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3
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7
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2
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(iii) 
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

2
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2
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sinsin
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(iv) sin10

0
sin30

0
sin50

0
sin70

0
=

16

1

(v)sin20
0
sin40

0
sin60

0
sin80

0
=

16

3
(vi) (1+cos )

8


(1+cos )

8

3
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8

5
(1+cos )

8

7
=

8

1

(vii)
A

A

A

A

2tan

8tan

14sec

18sec 


(viii) AA
AA

AA
4cos2cos4

3tan5tan

3tan5tan 


(ix) Sin5x=5sinx-20sin
3
x +16 sin

5
x (x)

x

x

tan

3tan
never lies between 1/3 and 3.

(xi) Cos2x= 2sin
2
y +4cos(x+y) sinxsiny+cos2(x+y) (xii) 420sec20cos3

00 ec

(xiii) B)(Asin=)cos(coscos2cos+Acos
222  BABAB

(xiv)
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A
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n
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Q11. Find the principal solution of the following functions:-

(i) sinx=
2

1
, Ans.

6

7
,

6

11
(ii) secx=2 , Ans.

3


,

3

5
(iii) tanx= -1 , Ans.

4

3
,

4

7
Q12.If sinA+sinB=a and cosA+cosB=b, then show that:-

(i)
22

22

)cos(
ab

ab
BA 

 (ii)
22

2
)sin(

ab

ab
BA  .

Q13.If A+B=45
0
, prove that:- (i)(1+tanA)(1+tanB)=2 (ii)(cotA-1)(cotB-1)=2 P.T.O
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Q14.Solve for x: (i) 7cos
2
x+3sin

2
x=4. Ans. Znnx 

3


(ii) sinx + 1cos3 x , Ans. Znmmornx  ,

6
)112(

2
)14(


(iii)cosx+ cos2x+cos3x=0 Ans. Znmmornx  ,

3

2
2

4
)12(


(iv)sinx+cosx=1 Ans. Znmmornx  ,2)

2
2( 

(v) tanx+tan2x+ 3 tanx tan2x= 3 Ans. Znnx  )
3

(
3

1 
Q15.Find the period and draw the graph of the following functions:-

(i)Sinx (ii)cosx (iii)tanx Ans.  )(2)(2)( iiiiii

Q16.If A+B+C=π then prove the following identities:-

(i) tanA+ tanB+tanC= tanA tanB tanC (ii) cotAcotB +cotBcotC+cotCcotA=1

Q17.If the angle of are in the ratio 1: 2:3, prove that the sides of are in the ratio 1; 3 :2.

Q18.If sin
2
A+sin

2
B= sin

2
C, prove that the  is right angled.

Q19. ,ABCIn If (i) a=2, b=3 and
3

2
sin A Find B (ii) a=18, b=24, c=30 and

0
90C Find sinA, sinB,

sinC (iii) a=18, b=24and c=30, find cosA,cosB and cosC Ans. (i) ,
2


(ii) ,

5

3
1,
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4
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4
0,

5

3

Q20.
cbacbca

hatthenprovetCifABCIn  311
:,60,

0

Q21. ,ABCIn Prove the following:- (i) 0cot)(cot)(cot)(
222222  CbaBacAcb

(ii)
)sin(

)sin(
2

22

CA

CA

b

ca




(iii) bcosB+ccosC=acos(B-C) (iv) a(sinB-sinC)+b(sinC-sinA)+c(sinA-sinB)=0

(v)
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ca

ba

cos)cos(1

cos)cos(1
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



(vi)

2
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2
sin

A

a

cbCB 


 
(vii)

2
sin)(

2
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A
cb
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a 


 

(viii)




 



 



2

tan

2
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ba
(ix) a(bcosC-ccosB)=b

2
-c

2
(x)

2
sin

2
cos

C
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c

ba



 
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(xi)
)sin(

)sin(
2

22
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a
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
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(xii) 0
2

cot)(
2

cot)(
2

cot)(  C
ba

B
ac

A
cb (xiii)

2
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2
tan

2
tan

2
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BA

BA
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c




(xiv) 02sin
)(

2sin
)(

2sin
)(

2
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2
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2

22 
C

a

ba
B

b

ac
A

a

cb
(xv)

C

B

Acb

Abc

cos

cos

cos

cos 


Q22.If a cosA=b cosB, then the triangle is either isoles or right angled.

Q23. ,ABCIn
15

)(

13

)(

12

)( caaccb 
then prove that

11

cos

7

cos

2

cos CBA 
Q24.If in  ABC, cosA +2cosB+cosC=2, prove that sides of the  are in A.P.

----------------------------------------------- Best of Luck----------------------------------------------------
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